1.from random import randint
letter = input(Enter a letter: ’)
num_times = randint(1, 10)
for i in range(num_times):
print(letter)

2.from random import randint
count=0

for i in range(10000):

rl = randint(1, 6)

r2 = randint(1, 6)

r3 = randint(1, 6)

r4 = randint(1, 6)

r5 = randint(1, 6)
ifrl==r2==r3==r4==15;
count+=1

print(Percentage of Yahtzees:’, 100*count/10000)

3.s = input(Enter a sentence: ’)
s =s.replace(’’, ")
s = s.upper()

print(s)

4.s = input(Enter a string: )
if len(s) >= 5:

t = s[:5] +

else:

t=s+'1*(5-len(s))

print(t)

5.s = input(Enter a sentence: ’)
print(s[0], end=")

for i in range(len(s)):

if slij ==""

print(s[i+1], end=")

print()
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